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The average age of 3 persons is 36 years. If their age are in the ratioof 4 : 3 : 2,
what will be the age of the seniormost person of them ?

3 RV 3¢ 4 30 —»39=108
(A 48years/?=rﬁf 5T — 3X36 /;,::l?,\

(B) 60 years/ad =([0%)
() 36years/?=r‘5f

(D) 24 years/dd
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The average age of three persons is 33 years. If their age are in the ratio of
2 : 3 : 4, what will be the age of the juniormost person of them?

Ay 22 years/‘ol'ﬁf 3 T 33 @ $ 324 — gﬁ;gg\/“
(B) 11 years/TH  z57—522%3 01 = %
(C) 33 years/dd =99y 2\

(D) 9 years/ Y
15T = 3herg YeB]
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Ashok is as much younger than Vimal as he is older than Arun. If the sum of

3.

ages of Arun and Vimal is 58 years, tha age of Ashok's is ?
Basic
% 29 years / 99
(B) 50 years/dHd \/__ A = A-Atun

(C) 30years/aﬁf
(D) 40 years / 9
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Ashok is as much younger than Vimal as he is older than Arun. If the sum of

3.

ages of Arun and Vimal is S8 years, tha age of Ashok's is ?

(B) 50 years/dHd
(C) 30 years/dd ,mqﬁ_ﬁ
(D) 40 years / 9
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Rohan is as much younger than sonal as he is older than Anish. If the sum of

ages of Anish and Sonal is 48 years, what will be Roshan's age ?

%24years/aﬁf Q:%/:M\/

(B) 25 years/dd
(C) 30 years / Y
(D) 20 years /o

By: P.K Sir
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Seven years ago, father's age was 7 times of his son's age and after 12 years,
father's age will be 4 times of his son's age. Find the present age of the son —

e

o )
: \&/C A
(A) 76 years /% ! 07 9
(B) 57 years/d¥ F— L1 qé
26 years/t‘srﬁf ©, Q/ ) £10 J&
4——Lp4 \4
s oSy +1a 4
(D) 19 years/dd 4 & 5 %
B - j?-r:tl/ \@ °@& _ \7{94'5 20
T =Za0 .
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Seven years ago, father's age was 7 times of his son's age and after 12 years,

e

father's age will be 4 times of his son's age. Find the present age of the son —

(A) 76 years /aH
(B) 57 years | Y
(C) 26 years / Y
(D) 19 years / Y

By: P.K Sir
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Five years ago, father's age was 5 times of his son's age and after 10 years,
fahter's age will be two times of his son's age. What is the present age of

father ?

(A) 10years/<‘:ﬂ§
(B) 25 years/dH X5

\\Mﬁl years / 9 ESSY
1) Syears/t‘ﬂf

By: P.K Sir
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Average age of boys in a class is three times of the number of girls. If the ratio
of boys and girls in a class of 48 students is 7 : 1, what is the total age of boys

: 9
in the class’ B o Cﬂ

7o 4 —38=4%
(A) 568 years/d® X x6_ (31=6|

2o 6
(B) 590 years/aﬁf 73 ©

756 years /@ 498V c3=13

(D) 696 years/a'ﬁf %:%XW
— 18 K42

— 356
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Average age of boys in a class is two times of the number of girls in the class.

If the ratio of the number of boy sand girls in a class of 36 students is S : 1,

what is the total age of boys in the class? B (&

5 2 1—286=36
(A) 196 years / a9 %% % (31=6)
(B) 420 years /dd A08 A-V y (" xQ

MY 360 years/:j 0R A-\/ 6X&"@
D) 490 years/
i 2 = Sy T
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At present, the ratio of age of A and B is 4 : 3 and after 10 years, the sum of
their ages will be 90 years, what is the present age of A ?

(A) 30 years/dd

W)’ 40 years / 99

(C) 90 years/a'ﬁf

(D) 45 years /9 -
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ATTBT 251+ G0-10XQ
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At present, the ratio of age of A and B is 4 : 3 and after 10 years, the sum of
their ages will be 90 years, what is the present age of A ?

° 8
2 g

(A) 30 years / Y Q
(BY 40 years / 99 a4
(C) 90 years / Y
(D) 45 years | qH

By: P.K Sir



10. Teh 3TSHT ekt IMMET 22 AT Ugct §3| SHehl IU 3U Wk ISl & 99T

39 & LT 81 aeae § SHeh UF 3 IHE 39w 1/10 9N E, o 4
9 &g SHeh UA i IW AT &N ?
111

A man was married 22 years ago. His current age is 14 of the age at the time

of his marriage. At present, his son's age is 1/10 part of his age, what will be
his son's age be after 4years ?

(A) 599
(B) 50 @Y
(C) 54T
(D) 9au




11. Teh TSI okl ST 14 ATST Ugcl E2| SHehl add U 39! Iel & 999 &

30 1 1] T %) A § 36 qF i 39 36 3 A 1/4 W E, A 6 Wi
oS STk YA hT Y T BIT2

A man was married 14 years ago. His current age is 1% times of the age at the

time of his marriage. At present, his son's age is 1/4 part of his age, what will
be his son's age after 6 years ?

(A) 16 years / Y
(B) 4 years/dHd

(C) 22 years / Y
(D) 14 years | S
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At present Ram's age is 8 years more than Shyam's age. After 10 years Ram's

age became 3 times that of Shyam's age two years ago. What is Shyam's
present age?

(A) 12 years | Y
(B) 20 years / Y
(C) 24 years / Y
(D) 10 years / Y

By: P.K Sir



